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TR — — — — — — — — — — 0.5 0.5 — 0.5 — 1 0. 05 0.003 5
R1.9. 26 10:50 Hil 28.0 23.0 HIKEE i >100 0.16 0.08 W 8.1 9.4 1.0 0.1 3.7 0.3 2 7.1 0.23 346
12:35 Bl 28.0 23. 4 HIKE R 76 0.72 0. 00 W 7.9 8.7 1.6 0.0 4.4 0.0 9 6.4 0.27 1480
14:35 rg) 27.0 23.2 I R >100 1.43 0. 24 W 8.2 9.3 0.7 0.2 4.0 1.0 4 6.7 0. 25 774
16:50 Erg) 25.0 22.2 HIK £, HE >100 1.53 0.61 W 8.1 9.3 0.6 0.4 3.4 2.1 2 7.5 0. 25 482
18:35 P 23.0 22.0 WK | R >100 1.14 0.53 W 7.9 8.1 0.6 0.3 3.5 1.9 1 7.4 0.24 1030
20:35 PR 22.0 21.6 IR HER >100 0. 68 0.18 W 7.8 6.3 0.6 0.1 3.6 0.6 <1 7.0 0.24 1350
22:35 DN 21.5 21.5 IR fE 5L >100 0.58 0.14 HE 7.8 5.0 0.8 0.1 3.8 0.5 <1 6.6 0.23 2150
R1.9.27 0:35 USRI 20.0 20. 8 WIKE I 5L >100 0. 98 0. 02 HH 7.8 5.8 1.0 0.0 4.0 0.1 4 6.9 0.25 1530
2:35 Pt 19.5 20. 6 HIKEE fiE 5L >100 1. 46 0.57 W 7.9 5.9 1.0 0.6 3.7 2.1 2 7.5 0.23 590
4:35 S 19.0 20. 6 HIKE R >100 1.51 0.77 W 7.8 5.3 1.2 0.9 3.8 2.9 <1 8.1 0.23 500
6:35 S 20.0 20. 4 I R >100 1.03 0. 49 W 7.8 4.9 0.6 0.3 3.3 1.6 <1 7.8 0. 22 773
8:35 g 25.0 22. 1 WK T 4, HE >100 0. 26 0.23 W 7.8 4.6 1.8 0.4 4.3 1.0 10 5.9 0.23 4730
10:35 g 28.0 22.5 HIK MR >100 0.11 0.12 W 8.2 9.0 0.9 0.1 3.4 0.4 2 8.0 0. 25 429
R AE — 28.0 23. 4 — — >100 — 0.77 8.2 9.4 1.8 0.9 4.4 2.9 10 8.1 0.27 4730
e/ IME — 19.0 20. 4 — — 76 — 0. 00 — 7.8 4.6 0.6 0.0 3.3 0.0 <1 5.9 0. 22 346
A — 23.5 21.8 — — 98 — 0.31 — 7.9 7.0 1.0 0.3 3.8 1.1 3 7.1 0. 24 1240
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